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SECTION A

S. No.

Marks

CO

Q1

Select the most appropriate

(2x10)

(1) Which of the following(s) is most stable mesud# central tendency?
a. the mean

b. the median

c. the mode

d. All

(i) A---------- is an arrangement of all or part afset objects in a definite order.
a. Function

b. Factorial

c. Combination

d. Permutation

(iii) If the order of matrix A is mxp and order ofatrix B is pxn, then the order of
matrix AB is

a. mxp

b. mxn

C. nXm

d. mxp

(iv) Inverse of a square matrix is possible onlgsfdeterminant is
a.Zero

b. Non-zero

c. One

d. Minus one

(v) Derivative of 'y’ with respect of ‘X’ represest

COo1

Co1

COo1

COo1

COo1




a. Rate of change of y with respect to x
b. Rate of change of x with respect to y
c. Distance of y with respect to x

d. None

(vi) The derivative of a derivative is called
a. Anti-derivative

b. Second order derivative

c. Integration

d. First order derivative

(vii) The variance of a sample of 11 observatiomsads 16. The standard deviatior
of the sample equals

a.o

0

oo
= A~ D

6

(viii) Which of the following is a probability santipg?
a. Quota sampling

b. Systematic

c. Snow ball

d. Purposive

(ix) Probability is always lies between
a.-1to1l

b.-1to 0

c.0tol

d.0to 1/2

(x) Which of the following is not a mesure of disgien?
a. Range

b. M.D.

c. S.D.

d. Mode

|

CO1

CO1

Co1

Co1

Co1

SECTION B

Attempt any eight questions

(5x8)

Q2

How many terms of the series 1,6,11,.... Be takethabtheir sum is 148.

CO2

Q3

Functions f is defined by

CO2




f(x) = 1/x + 3%

Find f(-2) and f(1/2)

Q4 There are 4 statistics books Bz, B3, B4 . How many different groups of 2 books gan
be taken from from the 4 books. CO3
Q5 How scalar matrix is different from square nx&tr co1
Q6 How many terms of G.P. 1+4+16+64+..... will make siien 5461 ? CcO2
Q7 (3 4 (1 3
LetA=(3 5) B, 3)
Find each of the following: CcO1
A B
(1) 3 > (i) 3A-B
Q8 Draw the graph of the function f (x)=2-2x-1 cO2
Q9 We have observed stock exchange rates for tenaa§s, 86, 87, 88, 89, 88, 91, 92,
93, 89. Compute all measures of central tendency. CO2
Q 10 | Find derivative of each of the following functions
x%2—4x-3 x%-3 CO2
y= p and y = 34
SECTION-C
Attempt any four questions (10x4)
Q11 The probability of student A and student Bvsg a problem are 0.6 and 0.3
respectively.If the probability of atleast one loéin solving is 0.7. Find the chance| of
both of them solving the problem.
COo3
Q12 The following data corresponds to marks oleiby 200 students in a universjty
examination. Find the average score and S.D. ad¢bees of these students. co3

| Marks obtained | No. of students |




10-20 2
20-30 8
30-40 20
40-50 30
50-60 80
60-70 30
70-80 20
80-90 8
90-100 2
Total 200

Q13 The following are the marks obtained by B.Gtodents in mid-term examination of
Business Mathematics and Statistics:
23, 50, 38, 42, 63, 75, 12, 33, 26, 39, 35, 4752356, 59, 64, 77, 15, 21, 51, 54, V2,
68, 36, 65, 52, 60, 27, 34, 47, 48, 55, 58, 5958248, 50, 41, 57, 65, 54, 43, 56, 44,
30, 46, 67, 53,14,100,79,85,86,92,95,62,40,45,3108265,54,23,35,76,54 cos
(i) Form the discrete frequency distribution table.
(i) Construct percentage frequency distributidnléa
Q 14 | Determine the conditions under which the functionx’ + 10X + 25x - 40 will have
(i) @ maxima (ii) a minima.Also find out the maximuand minimum value of the cO2
function.
Q15 A transport company uses 3 types of truak®>[T3 to transport 3 types of vechiles
V1,V2,Va. The capacity of each truck in terms of 3 typeseafhiles is given below:
Vl V2 V3
T, 1 3 2
T> 2 2 3 CO4
T3 3 2 2

Using matrix method, find the number of trucks atle type required to transport

85,105 and 110 vechicles of,V», and \4 types respestively.
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SECTION A

S. No.

Marks

CO

Q1

Select the most appropriate

(2x10)

(1) Which of the following(s) is most affected byteeme values?
a. the mean

b. the median

c. the mode

d. All

(i) Combination is also called------------ )
a. Function

b. Factorial

c. Arrangement

d. Selection

(iii) If the order of matrix A is mxn and order ofatrix B is pxn, then the order of
matrix AB is

a. mxp

b. mxn

C. nXm

d. None

(iv) Inamatrix, A+(B+C)=(A+B)+C=A+B C. This law is called
a.Commutative Law
b. Associative Law

c. First distributive law
d. Second distributive law

(v) A function is said to be maximum when

Co1

Co1

Co1

COo1

Co1




a. Second derivative is greater than zero
b. Second derivative is greater than one
c. Second derivative is less than zero

d. Second derivative is equal to zero

(vi) The derivative of a derivative is called
a. Anti-derivative

b. Second order derivative

c. Integration

d. First order derivative

(vii) The variance of a sample of 11 observatiomsatds 100. The standard deviatic
of the sample equals
a. 100

b. 10

c. 1000

d. 10000

(viii) Which of the following is a non-probabilityampling?
a. Cluster

b. Systematic

c. Snow ball

d. Simple random sampling

(ix) Probability is one in case of
a. Certain event

b. Impossible event

c. Independent event

d. Exhaustive event

(X) Which of the following(s) is a mesure of dispien?
a. Range

b. M.D.

c. S.D.

d. All

N

COo1

Co1

CO1

CO1

CO1

SECTION B

Attempt any eight questions

(5x8)

Q2

The fourth term of an arithmetic series is 14 aigtth term is 26. Find the sum
first 20 terms.

CO2




Q3 Functions f is defined by

f(x) = 1/x2 + 3% CO2

Find f(-1) and f(1/2)
Q4 What is the chance that a leap year selectethdbm will contain 53 Sundays? CO3
Q5 How diagonal matrix is different from scalartme? co1
Q6 The sum of the first 3 terms of a geometric sed&¥B . The sum of the first six terms

is 3367512 . Find the first term and common ratio. CO2
Q7 (2 4 (0 1

LetA=(y ) B, )

Find each of the following: CcO1

A B

) = — — (i) 3A-2B

)z — @3
Q8 Draw the graph of the function f (x)-—z-.57x - CO2
Q9 We have observed stock exchange rates for tena¥a§8, 76, 87, 88, 89, 88, 88, 92,

93, 89. Compute all measures of central tendency. Co3
Q 10 | Find integration of the following:

x%2—4x-3 x%-3 CO2
y= ~—and y= 34
SECTION-C

Attempt any four questions (10x4)
Q11 A university is going to form a committeecdmmittee of 7 is to be formed from| 6

BBA students and 6 B.Com students. If the membktseocommittee are chosen|at

random, what is the probability that there will denajority of BBA students in the

committee? COo3




Q12

The following data corresponds to marks oleiby 120 students in a univers
examination. Find the average score and S.D. ad¢bees of these students.

Marks obtained No. of students
25-30 7
30-35 12
35-40 14
40-45 22
45-50 10
50-55 12
55-60 9
60-65 14
65-70 15
70-75 5

CO3

Q13

The following are the marks obtained by B.Gtadents in mid-term examination
Business Mathematics and Statistics:

23, 50, 38, 42, 63, 75, 12, 33, 26, 39, 35, 4752356, 59, 64, 77, 15, 21, 51, 54,
68, 36, 65, 52, 60, 27, 34, 47, 48, 55, 58, 5956248, 50, 41, 57, 65, 54, 43, 56, 1
30, 46, 67, 53,14,100,79,85,86,92,95,62,40,45

(i) Form the discrete frequency distribution table.

(i) Construct relative frequency distribution tabl

CO3

Q14

Determine the conditions under which the function §¢ + bx + ¢ will have (i) g

maxima (ii) a minima.Also find out the maximum am¢himum value of the function).

CO2

Q15

You have Rs 10,000 to invest. You want to $twke money in a stock mutual fur
a bond mutual fund, and a money market fund. Tipeeted annual returns for the
funds are given in the table.

You want your investment to obtain an overall ahma#urn of 8%. A financia
planner recommends that you invest the same anowtbcks as in bonds and t
money market combined. How much should you invesiaich fund?

d,
se

he

CO4






